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Note :  This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the

detailed instructions given therein.

AT:  FE URYT &1 | (200) 3ihi F & TS T AR (4) TS & | ARG Rl 3AH GG U9 BT
ST ST 158 T3 foreger et o SR S E |

D-1509 2



SECTION -1
ws3l

Note: This section contains five (5) questions based on the following paragraph.
Each question should be answered in about thirty (30) words and carries five (5)

marks. (5 x5 =25 Marks)
AME: 3@ ET A MR TR W IR Uier (5) W9 & | Wedish U9 ST ST o | (30)
T A U & | Tedieh U Ut (5) Shi e | (5 x 5 = 25 3tF)

Let us leave the contemporary scene for a while and dwell on the desirability and
prospects of wider acceptance of the small family norm. In our kind of poverty, any social or
economic improvement, however small, particularly at the lower levels, is fraught with pro-
natalist consequences, at least in the short run, until a threshold is reached where elasticity of
demand for children may begin to decline and an anti-natalist trend may set in. An
improvement in the level of education, even the attainment of literacy, or rise in income, or a
job of supposedly higher status or security, even migration from rural to urban, or even plain
job mobility suggestive of improvement, not to speak of real improvement, however small, in
housing, consumption, education, employment, social and economic status, expands the
horizon of expectations. It extends the span of useful effort and accumulation of personal
wealth. All this invites investment by way of a fresh addition to the family to whom these
benefits can be passed on so they can yield better returns when the child grows better
equipped to manhood. Enterprise being seen by an Indian as centred on the household,
anything that goes to enhance the wealth of the household is well worth investigating in. And
what can be of more enduring value to a household than another child who can give the
highest over-life-time return on that education to that household of which the head had been
deprived in his childhood and for which he had suffered ?

At the national level, the desirability of a sharp reduction in the birth rate, with a
matching reduction in the death rate is all too evident. The end, expressed in the form of
phased targets of reduction of the birth rate, would justify the judicious adoption of incentives
and disincentives both for State and personal effort, of the kind adumbrated in the Population

Policy.
31T THATHIE G99 i 8707 9 & fo1d Ush oRE R 3R BT IRAR A ot s 3R
T T I FHEATS R TR L | gART T o (e 1, fRE off TR & |tk ar entaes
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TUR, TR foha ot &9 &, a9y &7 § = TR W, 376 U9 3 S X W U, FH F HF 30T
9T & ford, 519 oo fo o |1 7 o7 S ST ‘o=t bt BT St olie’ W Y & ST 3R S fa)iy
Tt TRET T & SR | T 3 R H gYR, WeRdl ®f Wi off, a1 o | gy, o1ean s 39
GISTeh TR St AR AT GRETT, et e ok TiTal & 91e<t ol 3T YA Tea J@f ek foh YR Hohch
TfereiierdT off, TehrT, ST, o8t ISR, WSS Ua et feafq o smdferss Gur 1 1 el 5,
=1 TR ot 9 &, e g Feemett Sl AT ot fogd ol € | T8 STk YA 37 Stk qreT
% TTg T IR fogd R & | A8 [l URaR e AT (YRae) % €0 § a9 i SAmAfT R e,
TE AT TRER i EEACNA 1663 ST ehel & ST foh STl aTeel qovied o ford 3res! ove | a8l <7 &,
T &t Seck UfdThel SUcTed ST Tehdl & | SEH 1 MRATT §RT TeUNER TR hisd THe ST € , 38ferd St
F5 ol TR-URIR I GG Sl FEIAT & ST WIS HAT ST & | 3R T e il B HR INAR H
ford <omeT Tl g R T ST @ ehdl €, Sear URaR 39 e W Sfiae R & o stfshan
Tiathet § G € | 5o i e uRaR o1 giaar 79+ STeaehrel § 30 Wiathel ¥ dfed a7 3R 38 HRoT
T % T |

UL TR W, T R H ol HHF 3R Fog R H TeTdl-Serdt i, T 9gd W § | 37 §, 5T9

! THHY hl TROTEE o1&l oh ® | ook i, T AR ddfedeh UaeT oh [ord UicdE 31 3Teur g
i Terereh THA AU STed 8T, S foh STEET Hita | giararid e g |

1.  What do you deduce about the ‘small family norm” from the passage ?

=T W, Sier URaR HHE & a1 | 319 7497 fehs feprerd € 2
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2. Explain “Wealth of the household”.
“TRINE i THIRT” i AT it |

3. What do you understand by ‘elasticity of demand for children’ ?
el o ToTd T ol e | 37T o THer 2
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4.  Explain ‘Pronatalistic consequences of economic development’.

TTTeR TorehT oF 370 571 X UHTel ohl T ShifeTd |

5. Comment on ‘anti-natalist’ trend.

ST X TRl wrghe W feoqott shifst |
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SECTION - 11
e - II

Note : This section contains fifteen (15) questions, each to be answered in about thirty
(30) words. Each question carries five (5) marks.
(15 x 5 =75 Marks)

AMe:  H GE U UfE-ur" (5-5) 37ehi o UgeE (15) U & | Uoeh U9 o ST oI A (30) =l
H eTufeTd € | (15 x 5 =75 3ih)

6. Distinguish between Census and Sample Surveys.

ST SR Uiqeel (Fer) Taeqon o are 3T hiferd |
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7.  Distinguish between population estimates and population projection.

ST 3ot 3 SHEET G907 & S 3T it |

8. What do you mean by age-sex structure of a population ?

T I % 377 forrl giel § T gl € 2
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9.  What is post-partum amenorrhoea ? What are the determinants of post-partum
amenorrhoea ?

TR TCE 1 € 7 THe 3T o 1eiieh 1 € ?

10. Define Reproductive Health.
T T Y AT it |
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11. What is the definition of a town according to Census of India ?

IR T STV & 3THR el 3t T TR § 2

12. Differentiate between Arithmetic Progression and Geometrical Progression.

T STRIGUT 3R S STRIET o aiiel ST= i |
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13.  What is the meaning of ‘ecological imbalance’ ?

TRReTeR STqe 1 o1 T ?

14. Examine the linkage between gender and migration.

foT 3T wore & i eyl TRiet it |
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15. Define population policy.
ST i i ufRTeT i |

16. Give the characteristics of Hexagonal model of settlement distribution.

A FeroT o SV Hieet i fqRieard sy |
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17. Differentiate between main worker and marginal worker.

A ShiHeh 3R T ShiHeh o s 3T hivoTd |

18. What are the implications of population growth on sanitation ?

STHEAT g 1 AHTE TR FT 3R TSl ¢ 2
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19.  What are the health impacts of water pollution ?
STeT TIGHOT T T TR T 3T BT & 2

20. What are the objectives of National Rural Health Mission ?
T UTHOT T AT & 3299 T E ?
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Note :

SECTION-III
s - 111

This section contains five (5) questions from each of the electives/specialisations.
The candidate has to choose only one elective/specialisation and answer all the five
questions from it. Each question carries twelve (12) marks and is to be answered in
about two hundred (200) words. (5 x12 = 60 Marks)

T T H U U Tohe/favesidr § i (5) U99 € | 31l &l ool Uk Us®
TohTe/farSToTaT ol TR SH A | O U9 b1 ST ST E | Tk Ue aRE (12) ipi wi g d
ST STR TS &1 |t (200) I1= H 7RI € | (5 x 12 = 60 3)

ELECTIVE -1

ufs®-1

(Techniques of Population Analysis)
(ST favetwoT Ft deh-teh)

21. Explain GRR and NRR. What interpretation be made if NRR <1 or>1?

STt 3R 3R 3R U9 3R 3R ! AN SifoTd | If5 TT 3R SR < 1 a1 > 1 & o 1 AT i
STt 2

22. Give a procedure to compute singulate mean age at marriage.

foramg o werct T 311 i TIUET S i fafy e |

23. Discuss component method of population projection.

TGN GET0T i e fafd bt fererer shifsd |

24. Discuss various measures of fertility along with their merits and demerits.

TS o TafF= ATdT ht foraremT 3T T[0T Ue 3TauT o 91l hifeTy |

25. Write a note on the Model Life Table. Give its uses.
Tree (Fe3T) Siam aifets W oot faies qer Saet SuaiTdT sas |

D-1509
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21.

22.

23.

24.

25.

21.

ELECTIVE - 11
us®-11
(Population Settlements and Human Ecology)

(ST - afaat AR A aiRtaent)

Discuss various measures of population density.

ST See (FET) o farg=T ATt okt faeem it |

Discuss various determinants and consequences of internal migration.

IS Yere T o fafa=T fuent 3k auret ot foeremr ifsE |

Give a typology of the external forms of rural settlements with suitable interpretation.

TTHOT ST o STer Wi ST STehR0T SUeRT AT Whed JiTd |

Write a note on the characteristics of the tributary area of a central place.

HE WA F G & bt fawrsareti i feoot fatad |

Underline the population response to natural and human disasters.

TThideh Ud T FeTeast o Ui S i Udfshar st {@itehd it |

OR / &¥an

ELECTIVE - 111

ufs®-111

(Population, Development & Environment)

(ST, fasme 3 qatawon)

Population and economic development should be complementary and not competitive.

STHEEAT SR 31T foeh st Ueh TR T IR BT AMfedt 7 foh ufcreaeienes |
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22.

23.

24.

25.

21.

22.

Critically analyse the concept of ‘Place <> Work <> Folk’ in the context of
‘Environment <> Development <> Population’.

“YITERT < TR <> SHEET & g9 H T <> FA <> S’ i TR Sl STATIICHS
fergeisor it |

Discuss the merits and limitations of Human Development Index as a measure of
poverty and socio-economic development.

e 3TR TStk — 31 forehr o W19 & ®9 | I foehra geehich o O 3R FHETST i
foerermT ST |

Comment on the views of Coale and Hoover and Estner Boserup on the relationship
between population growth and economic development.

ST gl 3R ST fTehra o ot T T et o o Ud TR oRY o =i W feumof
I |

Quality of housing under different environment is an important indicator of
development. Comment.

T TATaROT o ST ST IET i T[UTET T T Hewaqul g &, feuqot it |
OR / J¥gat

ELECTIVE -1V
wfs®-1V
(Family Welfare Programme in India)

(VR & UER fais w1asn)

State the background for the adoption of “Reproductive and Child Health Approach”
to the Family Welfare Programme. Explain the package of services offered under
RCH programme.

URAR SHeAT0T SHTAsHA & o TSI Te JTel TR SUNTH 310 oht T4 Jared | 3TR I U
HTASHE & ST YA o THE (YhsT) i TE HiTT |

Discuss the services offered for child survival and safe motherhood under
Reproductive and Child Health Programme.

TSI 3R STeT T HTshH o ST aTel STRSHTeT 3R GRierd wrged & fordt e damsit
! e e |

D-1509 17 P.T.O.



23. Why is sharp decline noted in Vasectomies compared to tubectomies during the last
few decades ? Explain.

‘et o TURT W T TWERT Sl TorT | TEN THa! H dlel ST i a1e T8 2° T Hifsd |

24. What are the socio-demographic goals set for 2010 in the National Population Policy
2000 ? How far these goals are achieved ?

UG ST A 2000 H, 2010 % & T fo6d T QIS - S oed 4 € 2 3
AT I STATH el AP g8 & ?

25. Critically analyse the merits and limitations of target free approach.

FETA-TRT SUNTH o T[T TR TTait At FHiet it |
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SECTION -1V
gug - [V

Note: This section consists of one essay type question of forty (40) marks to be

e :

26.

answered in about one thousand (1000) words on any one of the following

topics. (1 x 40 = 40 Marks)
3G TS T U AT (40) 37 1 Femurenss w9 € fooep S Fafaiad fawat § 9 et
TS T, T T TR (1000) IIs3T § 0T & | (1 x 40 = 40 3i)

What type of errors usually occur in Census and Survey data ? Discuss various methods
for detecting digit preference in reporting of age data.

STTUMT 3R [AeT0T Siehel | fhd o ol Jfe & STl & 27 37 et 37iehs 3ohgT il THY 37
T (Tefste i) uar o= =6t fafv=T fafeat =t faeamr i |
OR/zrean

Give a critique of the following development indicators to ensure all round socio-
economic development at the level of household, community and the larger area in
which they make a living

(1) Literacy and Education.

(i1) Skill development for utilisation of local resources and creation of durable
assets.

(iii) Health and nutrition.

FeifeRe forepra garehl, STt URAR, TR 3R =9® & (SRl o Sfte Hale s €) & 'R W
GO GTHITTeR- 31T Tehrd GATYed s &, ht qHiet hiferd :
(i) [I&TRAT 3T T9reT
(ii) T GETEAT o STAT e AR feehrss uRam et 9ioa s & ot shierer ot fosra
(i11) T SR T

OR/zrgan
Write an essay on Population — Development — Environment nexus.
STAHEAT — foeRr — TRTERvT Ty W e fafad |

OR/3rean

Explain the salient features of India’s National Population Policy 2000.

R ol TR ST AT i T FowIoarsti s T it |

D-1509 30



D-1509 31 P.T.O.



D-1509

32



D-1509 33 P.T.O.



D-1509

34



D-1509 35 P.T.O.



D-1509

36



D-1509 37 P.T.O.



D-1509

38



D-1509 39 P.T.O.



D-1509

FOR OFFICE USE ONLY

Marks Obtained

Question
Number

Marks
Obtained

(S

NN Hool LN No W RV, BE N JOVE | (O]

—
)

(S
(S

—_
\8)

—
W

—
NN

—_
(91

—
(@)

—_
~

—_
oo

—
O

\®}
e}

\9}
—_

N
[\

N
W

[\
B

N
W

o)
(@)}

Total Marks Obtained (in words) .

(in figures)

Signature & Name of the Coordinator ............cccceevverueenunennen.

(Evaluation)

40



	InsPages_D-1509_Population Studies.pdf
	Paper-III D-1509 _Population Studies_ _E + H_.pdf

